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0 Christmas Addition or Subtraction

Solve the following word problems.

Santa has 5 candy canes. He eats 2. How many
candy canes does Santa have left?

There are 4 reindeers in the stable. 1 more joins
them. How many reindeers are there now in the
stable?

Mary has 3 Christmas cards. She makes 2 more.
How many Christmas cards does Mary have now?

There are 5 Christmas cookies on the plate. John
eats 3. How many cookies are left on the plate?

Santa has 4 gifts in his bag. He adds 1 more. How
many gifts does Santa have in his bag now?

There are 3 ornaments on the Christmas tree. 2
more are added. How many ornaments are on the
tree now?

There are 5 stockings hanging on the fireplace. 2
are taken down. How many stockings are left
hanging?

Billy has 2 Christmas presents. He gets 3 more.
How many Christmas presents does Billy have
now?

9 There are 4 snowmen in the yard. 1 melts. How

ﬂany snowmen are left in the yard?
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